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MATHEMATICS

rE[

Roli No. i ....r..............r..

tfr&onr dd: 30

[Maxinum Marks : 30

APPLIED

,?let
, Nots:

ti) fifiswffiipiyaqspat eiqwi r

All Questiow are compulsory and eech question is of I rwrk.
(it) Ehi'rrvr,ai # emraii' q? Md t oidq? airzra? qrqt t

only English version is valid in case of dffirence in both the languages.
-

froc, = 
ncr2dnm,,rt

(a) 4

(b) ls
(c) 20

(d) 24

th, ot ErH t
(a) 10

(b) e0

(c) 45

(d) 8

1' trts =nC12, then the value of n is

(a) 4

(b) ls
(c) 20

(d) ?1

2. The value of lhris

(a) 10

(b) e0

(c).' 45

(d) 8

P,T.O.
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4.

r 1\10

tr-, Erqrqrmt

(a) l0.f
(b) 2s2

(c) - 10#
(d) -212

l+i . r

lE.qlwrtr
(a) 1

I(b) ;
(c) 2

(d) 0

Sin 57Oo 6rqHt
I(a) i

(b)

(c)

(d)

cos 62o cos 17"
qHt

5.

1*,

f
2

f-2

(a)

(b)

(e)

(d)

+ sin 62o sin 17o rfit

t+

I

-1
I<-

tlz
I

-tlz

(2) zuis

5.

rhe mlddle term of (, - *)" *
(a) 10f
o) 2s2

(c) - 10.C

(d) -2s2

The modulu. or$ it

(a) I
1o);

(c) 2

(d) o

The value of sin 5700

1(a) i
(b)

(c)

(d)

The value of cos

sin 62o sin 17o is

(a) 1

(b) -l
1(c) G

620 cos !7o +

I
-,

f
2

]E-2

6.

l
lz



7. #&*o=[l ?] *o{ft6429

lt 21

Lr +l

lt -10'l
Lrs zz)

tl-?l

\

9.

(a) [1, ll]
(b)

(o)

(d)

lt231
snnrr lo r zl ctqnt

lr z sl

(a) o

(b) I
(c) 3

(d) 7

qfrffi Hr[gT +.ft{ (2, 1), (s, 2) *(
(-1,3)trilfitfqm#tmt
(a) (1,1)

(b) (2,2)

(c) (3,3)

(d) (0,0)

10. fiil-€d (3, 3) eftt (7, ol t Uwt urd
qmtqmqtrfi{uTt

(a) x-Y+ I =0
(b) Y-x
(c) x+Y+3=0

3x-4Y+3=0

(3) 200s

7. rr mahix o = [ ?], ** natrix A2

is

(b)

G)

(d)

rhe value or detcrmin*, I 
I ? 3l is
Itzsl

(a) o

(b) 1

(c) 3

(d) 7

If vertices of any tiangle dre (2, L),

(5, 2) and (-1, 3), then the controid of
the uianglo is

(a) (1,1)

o) (2,2)

(c) (3,3)

(d) (0,0)

The straight line passlng through the

points (3, 3) and (7, 6) is

(a) r*y+1=0
(b) y =x
(c) .r+y+3=0
(d) 3x-4Y+3=0

P,T.O.

(a) l7 loljs zz)

tl ?l
l7 -lo
Lrs 22
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10.
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11. trfi tercfi rx
4*-3y+l*0

+4y1'l=0stt
+${d"rt

(b) .300

(d) e0

(a)

(c)

12.

150
,!

45

ftl + y2 - 4x - 6y * t2 =O or *lrt
(a) (2,3)

(b) (-2,-3)

(c) (2, -3)
(d) (-2,3) (

rrG[Fr{Ty2 = lOx+lilfut
(a) (0,0)

(b) (4,0) 
.

(c) (1,0)

(d) (0, 1)

14. {t.f *y2= l2rqftfuqt}

13.

(a) 2

(c) 6

o)4
(d) t2

ls. {dgn+f +9yz = 1+tg*Fdrt

(a)

(b)

(c)

(d)

1
2

I-+-

lz
f

3

1
3

U-i

(d)

(4) 2ms

The an$e between lines 3x + 4y +7 +0
and 4r-3y+ 1 =0 is

11.

lZ. The cente of the circle

**y2-4x*6y-12=0is
(a) (2,21

(b) (-2,-3)

(c) (2,'11

(d) (-2,3)

13. The focus of the parabola y2 = 16r is

(a) (0,0)

o) (4,0)

(c) (1,0)

(d) (0, 1)

14. R.adius of the circle * * y, = l?.x is

(a) 2

(c) 6

(a) 15o

(c) 45"

(b) 30o

(d) 90'

(b) 4

(d) 12

I5. Eccentricity of the ellipse

4*+9y2=1is

(a) *
1

E
(c) t'

1
3
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16. sltdnffi{ g* - l6y2 = tM Et
qrnqfigr66rer*t 

:

(a) 2

5(b) ;
9

(d) 
,,

t7. rrR{r2t+r}+st eil{ t*f -t +
, rtrrTtfurt

(a) 90

, (b) 45'

(c) 30e

\ (d)tr

lB. qfr ftffi sqmt rutr 61 qr$r 5vr+

mq{r: t + zt +3t sk- l? - zf + tt
*qqFmqqtqnT d*qfifrn,

. (a)o

i o)l
. (c) 6\F

' (a) 3{,

(") R* (b) R-

(c) R (d) R-(0)

200s

16. I-cpgth of lahrs recfirm of the

hyperbola 9* -16y2 = 144 is

(a) 2

{(b) i
o

(p) ;

(d) 1

17. The angle betwepn veotorrs Zt + af + St
AAA

and i+j-k is

(a) 9r
o) 45"

(c) 30o l
(d) e'

18. If two adjqcent sides of a

par4llelogram ut t + zf + 3t and

- 3t - zi + t, then the area of the

parallelogfam is

(a) o

o)1
(c) 6\F 

:

(d) 3.f2

19. The domain of the function (r) = *
is

(a) R+ O) F
(c) R (d) R.-{0}

P.T.O.
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20. qfr vmrtrl -#d(tan o)rrTril{

t
(a) taa20

O) sin 20

(c) cos 20

(d) cot20

21. yr#Erqnt
(a) o

o)1
(c) 2

(d) 4

22. qfry=rsinrdfr rrrqnt

(a) rcos.r+ sh.r

(b) n + cos.r

(c) -rcosr+Einr
(d) 1+cosx

29. qfry 
= r'io*dfl ETqrtt

(a) PooBr

(b) ptu'cosr

(c) P@8'cos.r

(d) pffi'+cos.r
(r. '.'

(6)

?n=ffi,
20p5

then the20, If tunction f(x)

value of f(un 0) is

(a) tan 20

O) sin 20

(c) cos 20

(d) eot29

21. The value of h
x+2

(a) o

O)t
(c) 2

(d) 4

*-+.
I[[ rs

22. If y = r sin r, theu the value ,f #
(a) xcosr+siqx

O) r+cosr

(c) -rco6x+sinr
(d) 1+copr

23, If y = .*', tt 
"n 

Sc,r

(a) Ocolr

(b) eml,cos.r

(c) e@8r cos.r

(d) etu'+ cos I
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24, qfr cos r +t 6<r { r Er+ <t + q} il
xt[T rrFTt

(a) 3tr

o) 450

(c) 9tr

(d) 2w

2s. [ 'r&, u,rErntJ Sln-, cos-r

(a) sin.r + cos .r + c

(b) tanr-cotx+c

(c) tanr + cot.r + c

(d) sin.t - cos .r + c

t,' 26, letu'cosrdrrFlqmt
J

(a) esur + c

(b) etu'+oo5.r+c

(c) ecosr + c

(d) ssinr - cos.r + c

I

27. I .# armqqt.J

(a) 1

o)0
1(c) t

(d) -1
(d) -1

P.T.O.

(7) 2005

U. If x increases twice ln comparison of
its cosx, then the value of r is

(a) 3tr

o) 45"

(c) 9tr

(d) 2rtr

2s. rhevalue"rJffir'
(a) sinr+cosx+c

O) tan.r - cd.r + c

(c) tan.r + cot.r + c

(d) sin.r - cos.r + c

f
26, Thevalueof I eMrcosxdris

J

(a) 6einr .r' g

O) trin.r .u cos x + c

(c) 6co$ r .u g

(d) rrinr-cosr+c

1

27. The value or | .* 4, it
,a

0

(a) I
(b) 0

I(c) 5
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ltl2

28. [ "orrdrEtqlTtJ
ntt2

(a) 2

o)l
(c) o

(d) 3

2s. srq'n qtm.m (#)' * 2*+ y = o

ut+lfet

(a) I

(b) 2

(c) 3

(d) 0

30. sffii5FT {qrfiq

[r*,G91 
* 

=*#*t*ilt
(a) I

o)2
(c) 3

(d) 4

2005

28. The value of J .o,x d.r is

_tilz

(a) 2

o)1
(c) o

(d) 3

29. The order of ttre differential oquation

(*rry *r*+y=ois

(a) I

(b) 2

(c) 3

(d) 0

30: The degree of differenlial equation

[r*'($)1 
trs=*fris

(a) I

(b) 2

(c) 3

(d) 4
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APPIIED MATIIPMATICS@
frqtftrl*rrq : *mdll
Ttne cttowed: Three Hours]

qF-, fi)
Notc:

(ti)

wnsw ffit {tqd,,*fiE€} qfu#rrrq?fil+ r

QuestionNo. I is compulsory, answer any five questions frotn tlte remaining,

nd$ nqr#rdf trld si frqdr qq sM 77 dfuq r

Solye alt ports of a Etzstion consecutively together'

(iii1 nsrrnr {ti rA FsC' rrrsr ++Fry t

Sturt each questlon on afresh Page'

(iv)qhiHqrorl#,ar.+ndi#nqfrdeiit-q?orgrrd?F'4tt

1. G) fr{*t$Og+q$q{ft4nrq I

Wnte the comple* oo*uer S in pofar form'

(ii) ftffidFf+tutffi^-i[ l:l 
-l]J 

],wrtt*mt'
1[. 1+i -1 +il

ptove rhatthe matrix o=iL, *, 1 :i jis aunitaw matrix.

(iii) zfr f(o) = tan 0,dF{ffiq :

tt f(0) = tan 0, then Prove that

f(20)=irffi

tflfrtfi{ dtr: 70

[Maximum Markn : 70

P.T.O.(e)

00s
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(iv) rrmdfrri ' 

t"'

Evaluate:

f (C- e-qdr
J (eI + e+)

(v) kt (5, 5) + Frd tqr 3ix - 4y+ t0 = O qft Hqqil $ nn qfrfqq 
r

Find the perpendicular distanco Fom th. ioiot 
.(S, 5) to the sraight3x-4y + 10=0.

(i, rs{diqq:

hove that:

nlz

| -=l@_:g_=__gt, (siu + {corr) - 4

Bscnfr&a i

frove t[at:

ffi\'iiT E'|E!N Tt[r{ $T f.IIrT l5,(FItrT VfiE FIt Ei [?f dFfe :

Solve the following equations by using lnverse matrir method:
Lr -y + 3z- 9 ; x + y * z = 6 i x _! * z =2.

line
(2x5)

(ii)

3. (i)

(6+6)

(6+6)

(ii) fircd&q 
'

hove that:

ll a

l, b

l, c
= (a- h) (b-c) (c - a) (a + b + c)

a3

pa

93

4. (i) srT Tn m s*+wr ilr ftt&q vil fuSqT e,2) ;(3, - 4) q.i (5, 6) * rJq16 X ,

mi*truation 
of the circle which passes through the points ,,2't; (3, - 4)
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(ii) efrIqqqIT{ * -2f -?,x+8y - 1= 0 tFIitir, qlfr, qSatl{qTtq*ilffi{lqqft

Hcrtun,qfteq I

Find ths Qentrc, focus, length of axes ahd length of lahrs rocfirm of the hyperbola

* -Zy2 -2x+8y - I = 0. (5+6)

Nq(HIAfi5. (i) fisq,ffiqfu'q11at' + by2 = l lgt ar* +b1y2 = r;q6g(tdqEd'
n 1\ (t L)
.(; -i)= ta-5',
Prove that the curves a* +byz= I and il* +bly2 = f intersects Orthogonally lf
n1\(t1\
G -i)= Ei-br'

(ii) tr{Eqrffidm#rs:
Solve the following inrcgrats :

I xd dx (6F6)Jffi

*Jq#*tq*rncffiq r6. (i) qql

Find thp value of integral lffi
(ii) firq s{qsfin+r,wrdreqflBlg I

\ Solve the following differential equation :

\ 
dx,cos_1xf,li*y=tanx 

(6+0

1. (i) frrq er+omq+r,<qrS66dfrr:

Solve the following differential equation :

(D2+3D+2)Y=d+sin2r

r 1\12(ii) [r-tJ t,Eqtryn{ roqlq(rTrddHq I

-( !\12
Find the 106 term in Binomial expansion 

"f ['-;,)
(6{6)

P.T.O.
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8. (i)

(12) ,1005

Nrzt-f +tl'tf +z!-rtl .ttsf +pf +stlvrc*qtdpr'rr{Hrrn
Eilqq I

I-f-,'"r"^tr 2i -! * tl; tt * z! -3t) *a 1rt + pf + stl u* coplanar, then findvalue of P.

tq 6 - I * gtl + turqr+ qrd qe tgf * tl *, tut rf * z! -tl s*iff qq$
am qff&q

Find the rnoments ol ft: force (31 * t) uuout the point tt + zl - t) ,ut irt, pas$es

(ii)

*


